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Que.

Questions & their objectives

Answer given by
Candidate

Non ~ essential amino acid is
A) Tyrosine B) Phenylalanine
C) Lysine D) Threonine

A

Maximum weight used in skin traction is
A) 5 Kg B) 7 Kg
C) 10 Kg D) 15 Kg

Swan-Ganz catheter is used to measure
A) Right atrial flow

B) Pulmonary capillary pressure

C) Central venos Pressure

D) Right ventricular Pressure

Dark Ground microscopy is used for detection of
A) Spirochetes B) Chlamydia
C) Fungi D) Virus

Haemaccel Contains
A) Albumin B) Degraded gelatin
C) Calcium D) Sodium

In case of left ventricular hypertrophy sum of Sin V1 and R in
V5 should be more than

A) 10 mm B) 20 mm

C) 25 mm D) 35 mm

Ossification in foetus starts in

A) First week of intra-uterine life

B) Second week of intra-uterine life
C) Fifth week of intra-uterine life

D) Fifth month

The most important cause of death in septic shock is
A) DIC B) Respiratory failure
C) Renal D) Cardiac

Most common bone to fracture in body is
A) Radius B) Clavicle
C) Femur D) Vertebra
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10 All requires hospitalization except
A) 5% burns in children B) 10% Scalds in children A
C) Electrocution D) 15% deep burns in adults
11 The weakest wall of the human orbit is
A) Roof B) Medial wali E)
C) Floor D) Lateral wall ~ o
12 The colour of cheloglobin is '
A) Red B) Pink D
C) Orange | - D) Green
18 Human Development Index (HDI) includes
A) life expectancy gross national product and per capita income D |
B) education, social status and life expectancy
C) Per capita income, education and life expectancy |
D) Education, life expectancy and purchasing power
14 The Commonest site for amyloid deposition is -
A) Colon B) Tongue C
C) Heart D) Liver j
15 Distance from the acromian in arm amputation is ...... inches. o
A) 5 B) 7 C
C)9 D) 11 4
16 Psoralen with UV-A is used for treating %
A) Porphyria B) Psoriasis B
C) Pemphigus D) Tineaversicolor
17 The length of fallopian tube is -
A) 8-10 cms B) 10-12 cms B
C) 15 cms D) none
18 The source of HCG is the o
A) Syncitiotrophoblast B) Cytotrophoblast A
C) Anghanslaye D) Chorionic Villi i_
19 A Child starts crawling at - —!'
A) 5 months B) 7 months C
. C) 8 months D) 9 months ;
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20

Patient presents with altered behaviour, delusions &
hallucination. Suggest -

A) Psychotic disorder

B) Confirms schizophrenia

C) Korsakoff’s psychosis

D) Obsessive — compulsive neurosis

Candidate o

A

21

Differential diagnosis of mitral stenosis
A) Left atrial myxoma B) Estein anomaly
C) Aortic anomaly D) All

22

Carcinoma cervix is caused by
A) Herpes Simplex type |

B) Papova virus

C) Ebsteinbarr virus

D) Adeno virus

23

The most important sign significance of renal artery stenosis on
an angiogram is

A) A percentage

B) Presence of collaterals

C) A systolic pressure gradient >20 mm Hg across the lesion

D) Post-stenotic dilatation of the renal artery

24

Which fracture neck of femur has poor prognois
A) Intracapsular B) Extracapsular
C) Both D) None

25

Contributory negligence if proved is beneficial to
A) The patient B) The treating doctor
C) Both of the above D) None of the above




